I3J-2

94T MBEEE (EPD)
ZixES ¢ JR-AI-24064E

KBX&t)a—

RICOH COMPANY,LTD

RICOH

Imagine. change.

HERI
Hm1EHIh

BESRELPE
m HREA OrRfEas
[RAARERE. £EE. FE. R -HEHFEIER, BE- VY1

HWRORR, FEMLE - Hx
AR : RICOH IM C300F
FEMHR-FT
-#BEH (EPAR)
-£/90308/%9 (A4)
-h5-308/53 (A4)
<JUDN /aE— /ZRFv> [FAX
- BERiRsEERE
- B EhEE DRI BE AR
ERARHEY(X : 8.5" x 14"

XAKmMEEAEEITY
FWSabhE%
KRS I— RREEBARAXPEAL-3-6

https://www.ricoh.co.jp/

SUMPORIESAIITIS A
—MRAEEAT T T T IR SHERE
RREFABXAHEH1-14-8

KANDA SQUARE GATE
https://ecoleaf-label.ip

H7—EEH(EPA)
Color MFP (Electrophotography)

RICOH IM C300F

ERES
BAPCRES
PCR#%
NGIS

B S1EE

JR-AI-24064E
PA-590000-AI-08
B AL S HER
20244 3H29H
202443H15H
BREEA T S AT LFEEAR
REBS JV-AI-24064
IRAIE#EAE  202943H14H
PCRLE1— DR}

REBSE 20234 98 1H

ZER MR &
—MRHEEN TR T TR EHSENIE

B=EHRELE*
SEpREEE AR B2
ISO14025(CRE > eAB ERUVT — 5 DML UTAREE
COAER L PA sl

¥ RT NREE R e BEARADIREDB S}, S XT AR ZITo T
EBEBDRAIELH.

EEhE]

(03) 3777-8111 (%K)

EHES . JR-AI-24064E



IaJ-J

SATMRIEE S
BRES : JR-AL-24064E

(EPD)

SUMPOERIESAII OIS A

—AEBEATRT T IIVEEREME

RRBTFHREXAWBE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jo

OS54 T4 DIV EFHTiER

0% 20% 40% 60% 80% 100%
SURZED IPCC 2013 GWP 100a 640 | kg-COz2eq
[izdeale 0.52 | kg-S0O2eq
BRHE 0.37 | kg-Sbeq
EOREMHAZEIQEE nQFEN@HER-HEECE nQ@EE-VY(Y)
PIER =| :=Livi ait OFEMBRE| QXEE Qi |omm - #EEE|cmg - UsroNL
SARZS) IPCC 2013 GWP 100a | kg-CO2eq | 6.4E+02 || 4.1E+02 5.3E+01 2.2E+01 1.6E+02 | 7.9E+00
izl d kg-SOz2eq | 5.2E-01 3.5E-01 5.8E-03 3.6E-02 1.3E-01 7.2E-03
BREHE kg-Sbeq 3.7E-01 2.9E-01 9.9E-05 9.1E-05 8.1E-02 1.9E-05
@ E3 =E MM NES (C B9 D45 kB
I5H B{i MH - WE (EAETES) =T
IEBAENEEER 4.0E4+01 kg SuUsS 1.2E+00 kg
B4AOJgEER 7.7E+01 kg TVIL="TJ 5.3E-01 kg
53 1.9E+01 kg
ZOfERE 2.2E+00 kg
OB 2.2E+01 kg
EEL IR 4.0E-01 kg
HSX 1.1E+00 kg
EPN 6.6E-01 kg
iy 9.1E+00 kg
AR 4.6E-03 kg
ERERER 1.9E+00 kg
A 1.0E-04 kg




TaY—J SUMPORIESAINITIS A
—BADEAY 2T T T BEHE S

F1TMERIFES (EPD) R TROENEB114-8
- KANDA SQUARE GATE
TiR&ES © JR-AI-24064E Y M
KSATHAOIVCHITDEEMEERLUTCNET .
OHERRE(CET DEMEIR
- BRIEFEICAVWDSFUAICESVWTERUERRDO
- EEE1(EP)

- BRotmirk - B

- TATE(EFIEAR] | SR

- TATE(ERIMES  135,00080%
XEBRIRILF—RI—-T0OIS A Ver3. 0DEES % EA

- ERE DB (EIRIFR) O&REidEt ELTUhEEA.

©-1.FDMDIRIZEIE IR

« BRNROHSIE R (CERLL TWLVE T,

- ABBOMATEE L. FESBRB THDIBEAR. b F—DEE(FISO14001 B EES LiH(C TITHNTLE T,
SRS 1 SGS-CN18/20330 JQA—-E-70001
https://jp.ricoh.com/sustainability/environment/management/iso

QERUEZRT—IDERS
IDEA v2.1.3. BELW TOUSLBREEAVI.I3ZEALTOEY

®fFS

0> —FEFEDAEE. PCRELVETE - EEMEZSHB L TLIZE,
O LERICDVWTIE. &EXE - EEMREB(CHESNIEE&AFZ/mIZUILBECUMEDENEF A,
(Z885URL : https://ecoleaf-label.jp/regulation/)
TixEsS . JR-AI-24064E



